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The peniod of the tangent function is radians.
Complex numbers z & Z are of each other.
It fi-x) = fix), then fFis alm) function.
&+ 107 15 a complex number written i form.
is the reciprocal of tangent.
The complex mumber -3— 8 les in the quadrant.

TWhen converting a complex number i rectangular form to polar form, you must male sure the

argument, &, is in the correct
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. When multiplving two complex numbers in trig. form, vou multiply the moduli and

Inthe complex plane, the vertical axis is the axis.
is the reciprocal of sine.
DeMoivre's Theorem enables us to calculate of complex numbers.
The number 10{cos 150° + isin 130" ) is written in form.
cos(28)= 2costd — 1is a(n) angle formula.
Inthe complex plane, the horizontal axis is the axis.
sin? & + cos? & =11isa(n) identity.
The absolute value of a complex number is also called the
is the reciprocal of cosine.
An equation that is true for all values of the variable (as defined by the domain).
If f-x) = -fix), then fis a(n) function.

To calculate the argument of a complex number, vou must take the inverse of bia.
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L Let z=-33-3. []]
———

a.  Wnte z m rectangular form. (3\)’3_) -3 )

b, Find [

r=Je+s =3 <6

c. Wrte z in polar form Eeep &in degrees.
I

Unit 4 TestInfo:

1.

2.

Touwill be able to use your
calculator.

Youwill be given a formula sheet
that has the Pythagorean, Sum &
Difference and Double Angle
Tdentities. Itwill also hawve the
Complex #®Roots Theorem
formula.

You must havethe Uit Circle and
all other formualas memorized.
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2. Express [4, 315°] in exact standard form.

G=14 os 316° b=uy
|
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Sin

4. J3 *9--§3
=1

190 = auD’
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3. Find all fourth roots of > +Ei _ Write vour answers in polar form. Keep fin degrees.
Graph the results below.
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K =l») @’? ) 7%"—9;0 ] What type of figure is created by connecting the four roots?
= [ﬁ ) 75-] ?%7,; 50° Sc\uc.r‘c
K= Eﬁ N 9. S‘J

K>3 EENCIAN
K=3 [VZ, 275"



4. Evaluate each. 0" =& < 360" Write vour exact answers in the form thev started in.

a 20 z=—143i ﬂ b. |:3[COS£+ES]'11E]:|4
=2 ©=120° 4 4

Ezq) ,ao" q]‘ E!J,'O‘nj ~ 5’1 (Cos %’D’(} + L% 334)

Goe 512 cbs 1280 =52 ) o
bt s,a‘.‘_\wtgo - S/I<C05 3’“’—}-/& Sin 3?")

S12 404 =&\ (oSW+Asi<Y)

¢ w2z amd 2 ifw=[2,150"] and z =[3,60°]

W-Z.= 69)3‘0'3 % = [:"3' ﬁO.J



5.

Suppose that sin 8 = di- and tan 6 < 0.

I
£

a. Find the mc@ of each of the following.

i.cosﬂ:+ ii. tan 0 =
7

iii. cscﬁzj_ iv. sec B =
X&) ~gJ3

¥, cc—tﬁ:_-_q_ vi. sin (26) =

il

315

b. Identify a possible approximate positive degree measure for B Show vour work.
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Q’ :~3'—f,?f°f
o= 35.15°
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Verify the identities.

6. Sin"ﬁ' +r)+sin[a- l cos/ 7. sect x—secix= tan";P{nx

s-n“%“eos;t-tsytfi‘-rsn;enx-sy(s? .SCCa’([SQ.caK - )
.2"””' '.'z'c”’h (Hﬂ"&m"r)(ﬂm‘w—f'l—l)~
JebsX = (1 ++am*x X Fantx )=
VAdenly + +an?x =



Solve for primarv values. Find all exact complex solutions.
(Write your answers in standard form.)

8. sinxtanx+~d§sinx=0 9 =8

Sink (4o~ x+3)= O rey O <210

.5""\ch Fon e -y v Kco [\3/’37)5’3—




Solve the following problem. Round vour answers to the nearest 1002, (degree mode)

10. Because of ocean tides, the depth of the River Thames in London varies as a function of time that
mvolves the sine. Suppose the depth 4 1n meters as a function of 7, the hour of the day, 1s modeled by

d(f) = 3 sin (l(r—4)]+3,
where t = 0 corresponds to midnight, or 12:00 A.M, \ 36

a. Predict the de“%th of the river at 2200 PM.  b. At approximately what times 1s the depth 10 m?
'& SHOW YOUR WORK. SHOW YOUR WORK.

2y

s [ 3sin (30°E —ja0°)t¥ <= 1O
A= 35in (36 (- 1)) TF n ( e a0t

~ 5.90 £+. Jeimu+8 = /0
Stau=
3 '4 - A lgoﬂfl.‘gw
6“’\ W= 3
W 4.8 o [38.19°
3ot ~/ro=9).Y+3u0y I0t-idoc|3¢ A + 3On

Jo€ S lel- ¥ +360n 3oL =XsM+3LOm

3 o 3o 3o 3o
1+ =5%+ 12 £ =%. bl *12n
-I.-=s.+, 17.4 += ¥l 20,6
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